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1. AFRIE R TR

FEESE | EA G | BA R | & K R | EEAEER | oGk

o]l % B O EHE| A K & m bR FH | ZBRERE
(A) (B) (C) C/B (D) C+D

A A A % A A

Rk18 20,796 16,210 5,031 31.0 4,586 9,617

(1) EAAGEBRAORE L., IHFE 2B AR E SO LA E & T,
AR A E T
B = AR D 695% . B IAEED 185%., 4otk 826 A

(B ) 1 E D2 GRS FUR I

FEESEHE | s R | & 8’8 & & K X

£ Bl = ERERAE

(A) (B) (C) C/A C/B
A A A % %

SER% 7 10,414 3,027 722 6.9 23.9
8 10,183 3,017 672 6.6 22.3
9 10,033 3,147 673 6.7 21.4
10 10,006 3,395 672 6.7 19.8
11 10,265 3,320 786 7.7 23.7
12 11,058 3,381 838 7.6 24.8
13 12,073 3,336 961 8.0 28.8
14 13,389 3,414 1,148 8.6 33.6
15 14,978 3,404 1,262 8.4 37.1
16 16,310 3,278 1,378 8.4 42.0
17 15,322 3,548 1,308 8.5 36.9
& 3 134,031 36,267 10,420 7.8 28.7




2. fFlh E ks

A A & % A A F S

X ga eyiEa = B
SR ErEH 2 & KRkt bR GRS E

A A % % A A

20755 A Vi 308 20 6.5 0.4 0 20
205% LA _F257% AT 6,767 2,081 30.8 41.4 981 3,062
257 LA 13058 AT 5,164 1,888 36.6 37.5 2,148 4,036
307% LA - 357% AT 2,263 725 32.0 14.4 962 1,687
355k LA 4055 AT 866 214 24.7 4.3 303 517
A05% LA 4558 AT 429 63 14.7 1.3 97 160
4555 LA 507 AT 183 21 11.5 0.4 36 57
505% LA _E555% AT 104 12 11.5 0.2 15 27
555% LA 60755 A i 73 4 5.5 0.1 13 17
605% LA 6558 AT 26 1 3.8 0.0 6 7
655 L I 27 2 7.4 0.0 25 27
a &t 16,210 5,031 31.0 100.0 4,586 9,617

PRk 184




3. FIER R

A A & % A A F S

X ga eyiEa = B

SR ErEH 2 & KRkt R GRS E

A A % % A A

xR & T 602 179 29.7 3.6 204 383

K F £ = 168 35 20.8 0.7 27 62
N = AN
= 3 A9 ik

* = 7 2 404 101 25.0 2.0 6 107

XK F ox ¥ 10,159 3,636 35.8 72.3 4,134 7,770

P A = 3,810 886 23.3 17.6 112 998

- fth, 1,067 194 18.2 3.9 103 297

& 3 16,210 5,031 31.0 100.0 4,586 9,617

Pk 1 84




4. WEERaks A

A SY Y B A A A e
ES o Bk = B
= BRE R | & W R B
A A % % A A
& H 4 Al 0 0 0.0 0.0 4,317 4,317
2F F B 424 134 31.6 2.7 39 173
B e + 125 39 31.2 0.8 28 67
e - g 1,573 211 13.4 4.2 50 261
N % g 202 26 12.9 0.5 28 54
510 =] 61 5 8.2 0.1 11 16
HE - H I mE 86 28 32.6 0.6 9 37
o 4,448 1,047 23.5 20.8 33 1,080
B OB %
R 3,826 1,461 38.2 29.0 1 1,462
bl 5,298 2,060 38.9 40.9 18 2,078
% D 167 20 12.0 0.4 52 72
s = 16,210 5,031 31.0 100.0 4,586 9,617

PRk 184




5. B SRl A A iR

A A & % A A F S

X ga eyiEa = B
SR ErEH 2 & KRkt bR GRS E

A A % % A A

it i Sl 266 76 28.6 1.5 54 130
W it 375 92 24.5 1.8 54 146
5] B 9,790 3,036 31.0 60.3 3,203 6,239
1t 2 214 88 41.1 1.7 45 133
W NiA 1,010 344 34.1 6.8 253 597
T % 3,363 1,053 31.3 20.9 748 1,801
Hh 249 88 36.4 1.7 69 157
Iy 166 49 29.5 1.0 29 78
i AN 115 26 22.6 0.5 10 36
& [if] 628 172 27.4 3.4 115 287
bt ] 41 7 17.1 0.1 6 13
a &t 16,210 5,031 31.0 100.0 4,586 9,617

PRk 184




